
£1 = €1.16 £1 = US$1.41

a) Convert £20 to euros.

Convert £480 to euros.

b) Convert £50 to US dollars.

Convert £65 to US dollars.

c) Estimate how many pounds you can buy with €240

d) Estimate how many pounds you can buy with US$2,800

£23.20

£556.80

£70.50

£91.65

Approx £200

Approx £2,000



Tommy goes on all three trips. 
Find the total cost in pounds.

a) Alex can do three activities in a day.
How many different combinations of 
activities could Rosie do?

b) If Alex has a budget of £70, which combinations 
of three activities can she afford?

Boat
€18.50

Zoo
€39.50

Go karting Theme park Water skiing Zoo Climbing

€36 €50 €15 €30 €13

£75

10 combinations

£70 = €81.20

TP + WS + Cl = €78 GK + WS + Cl = €64
Zo + WS + Cl = €58 GK + Zo + Cl = €79

Theatre 
€27.50


